HW3 (due 2011/05/02)

Following the Example 5.2 in Professor Kuan’s lecture on bootstrap, please simulate the coverage rate of 95% confidence intervals of regression coefficient [image: image2.png]


. Repeat R times (say, R=2000) and calculate the coverage rates (AM, BT) of both asymptotic method and nonparametric bootstrap method. In bootstrap method, you may let B = 1000. Try different settings in your data generating process. For each setting, you need to compare results and explain what you see. (Sample size T = 10, 20, 50, 100)
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